ZCAS University

SEC 1162 INTRODUCTION TO MACROECONOMICS
MID SEMESTER TESTS
25" October 2023
TIME 16:30-19:30HRS

TIME ALLOWLED: READING AND WRITING - THREE HOURS

INSTRUCTIONS:

|. Section A: this question is compulsory and must be attempted.
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Sections B: Answer THREE (3) questions from this section.

This examination paper carries a total of 100 marks.
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SECTION A: Question 1 is compulsory and must be attempted

Question 1

As an cconomist in first year vou find people in the streets are discussing the aftairs of the
cconomy. They. are debating that interest rates in Zambia are 100 high. ouiput is low because
local people do consume more than they produce. That the government has borrowed a lot and
is spending on unnccessary things. Unemplovment levels. on the other hand. are high and yet
there is little money to assist small scale entreprencurs to start up anvthing.  Using the

rowicdze vou have learnt in BEFT12, explain the following:

A. ldentify the following as either fiscal or monetary policy and explain the etTect on goods

and moncy market.

a.  The government increasces spending on roads and bridges. (7marks)
b. The central bank lowers interest rtes, (7marks)
¢. The government increases the income tax rate. (Smarks)
d. The goverment buy s bonds 1o the open manked. (Sunarks)

13. Suppose banks hold re<crves conal 1y 1 Y rer eent of total deposits, and the public wish
1o hiold 3 per cent of the derosits The monctay base is I C+R and broad money is
cash with the public plus Bank cesevves What is the value ol money and bank deposit
multiplier? (10marks)

(total:d0marks)

SECTION 13 Attempt any THREE questian: in this section,

Question 2

a A couatny's ceatral bank is concemed coout G poteatial recession. What policies could
itimplement o boost aggregate demand in the closed economy?  Show on the graph

(10marks)
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the Thely cilocts of this tax on wgerevate Jomad i the cconommy? Show on the graph
(10 marks)

(total:20marks)



Question 3

Concider the following equations for agareoate demand in an open #ronamy:
AD=C+1+G+ NX

where:

- AD is aggregate demand
« Cisconsumption

« |isinvestment
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Assunic the following values for the paramciers:

C =100+ 0.75(1-0.2)Y
[ =150

G =200

NX =50 -0.25Y

where:

e Yisreal GDP

I
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A. Calculate the equiiiorium levei of reai GIDP (Y) for this economy. (marhs,
B. Government implements an e¢xpansionary fiscal policy by increasing G=3u0 and
reducing the tax rate 1o 10%, Calenlate the new equilibrium feve! of auip it (Y).
I3narks)
C. Oaone graph show your answers in part A and B. (dmarks)

(total;20marks)



Question 4

a. Explain the liquidity preference theory. (10marks)
b. Explain the functions of central bank and the tools used to influence money in
circulation. (10marks)

(Total:20marks)

Question 3

a. Derive the IS-LM framework graphically and (10marks)

b. Use it to show what will happen if there is an expansionary fiscal policy*ﬁnaqced by

borrowing. (10marks)
(Total:20marks)

END OF EXAMINATION




